i
a 17005.1
4
Material oxide finish.
Body: steel (C45), black oxide finish.
Piston: steel (42CrMo), heat treated, black
Order No. h, h, dy d, dy d, dg Iy I,  Piston spring Stroke's, Support capacity A/F Weight
force kN g
N
17005.w0018 18 5 15 6 M8x1,25 16 M4xle 16 132 15~30 3 0,2 13 36
17005.w0022 22 6 19 8 M10x1,50 20 M5x20 20 163 1,8~3,0 4 0,3 17 72
17005.wW0025 25 6 22 10 M12x1,75 24 Mex25 24 223 1,8~3,0 4 04 19 150
)
o . . )
R Wixroyd 0333 207 4497 sales@wixroyd.com 1
AN ESSENTRA COMPANY

SUPPORTS & STOPS



